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BAL K i B 2E KK = 50m
1 B % LS SEA F13 5/ 5 1:10. 29 33.66  9f% ( 0.62)
2 g K& KL#&FERH ==h] 5/ 8 1:13.38 34.33  8#k ( 0.68)
3 BEAR K BIGT 3 M 5/ 4 1:14.00 34.27  8#k ( 0.68)
4 frd YN KL#&FEHH H2 3/ 6 1:14.97 35.41 8% ( 0.65)
5 hEF 7T A NEITL H13 5/ 17 1:15.17 35.95  T#k (0.71)
6 HEA KAt VieET—H H3 4/ 5  1:15.53 35.85 6% ( 0.62)
7 IUHE % KLWEERH 2 5/ 6 1:15.69 36.00 6% ( 0.64)
8 Wl KFk BIGT = H12 5/ 3 1:16.08 36.73  T#k ( 0.74)
9 /Nl A KLEHEAHA F2  4/3  1:16.40 36.00 7% ( 0.62)
10 KN BG4 BTN 2 1/ 5 1:17. 34 36.50  7#k (0.61)
11 #BfH  KREF V hET /N il 3/ 5 1:17.97 36.06  T#% ( 0.55)
12 g 3 TUARNET 2 4/ 6 1:18.98 37.21  6#k ( 0.68)
13 /MR BER FEIR S S 2 4/ 4 1:19.28 36.23  5#% ( 0.65)
14 fitfs  seX VhET—E 2 2/ 1 1:19.59 38.22 6% ( 0.73)
15 = fHE TR NEIT 3/ 7 1:19.72 38.04  8fk ( 0.62)
16 Vefg  FHh KL&ERAH i 3/ 8 1:19. 82 38.11  8fk ( 0.61)
17 1 BRI PEKEBS S 2 3/ 4 1:20. 40 38.13  5fk ( 0.84)
18 A AEH FEIRS S Hi2 2/ 4 1:20.98 38. 36 4 ( 0.77)
19 KRALEFD A 4#kS SHE”" 2 4/ 8 1:21.26 38.65  5f%k ( 0.63)
20 K% Mk E— hSE 3 4/ 7 1:23.00 38.88 3% ( 0.66)
21 Ak PR Z8kS SEA 12 2/ 6 1:23.20 39.27 4%k ( 0.79)
22 [UH =K V hET /N 1/ 4  1:23.47 37.80 6k ( 0.75)
23 Fd BEA TR MNET 1 3/ 3 1:24.51 39.43  6fk ( 0.67)
24 T HIDEARR v 4 /VKH H2 1/ 6 1:25.07 30.82 4%k ( 0.74)
25 FEf  RIY RS —=—2X  H1 1/ 7  1:38.04 46.19 1% ( 1.01)
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